

Page 1 of 14

Contract ID: 23146 Counties: MONMOUTH

Letting Date: November 30, 2023 District(s): C1

Call Order: 146 **Project(s):** 0035338

Contract Time: 10/20/25 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 R		Roadway		Cat Alt	Set:	Cat A	It Member:	
0001	151006M	1.000	34,200.00000	34,200.00				
	RMANCE BOND AND IT BOND	DOLL						
0003	153003P	(1)	38,000.00000	38,000.00				
PROGRE	ESS SCHEDULE	LS						
0004	153005M	10.000	8,000.00000	80,000.00				
PROGRE	ESS SCHEDULE UPD	DATE U						
0005	153011M	600.000	120.00000	72,000.00				
TRAINE	ES .	HOUR						
0006	154003P	(1)	834,000.00000	834,000.00				
MOBILIZ	ATION	LS						
0009	157004M	1.000	38,000.00000	38,000.00				
CONSTR	RUCTION LAYOUT	DOLL						



Page 2 of 14

Contract ID: 23146 Counties: MONMOUTH

Letting Date: November 30, 2023 District(s): C1

Call Order: 146 **Project(s):** 0035338

Contract Time: 10/20/25 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ASPHAL SYSTEM					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt	Set:	Cat Alt Member:		
0013	159003M	80.000	1.00000	80.00				
BREAKA	WAY BARRICADE	U						
0014	159006M	200.000	1.00000	200.00				
DRUM		U						
0015	159009M	400.000	60.00000	24,000.00				
TRAFFIC	CONE	U						
0016	159012M	2,988.000	30.50000	91,134.00				
CONSTR	UCTION SIGNS	SF						
0017	159015M	2.000	2,250.00000	4,500.00				
CONSTRUCTION IDENTIFICATION U SIGN, 4' X 8'								
0018	159027M	6.000	7,500.00000	45,000.00				
ARROW	BOARD, 4' X 8'	U						



Page 3 of 14

Contract ID: 23146 Counties: MONMOUTH

Letting Date: November 30, 2023 District(s): C1

Call Order: 146 **Project(s):** 0035338

Contract Time: 10/20/25 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member Quantity		antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roa		Roadway		Cat Alt	Set:	Cat A	It Member:	
0019	159030M	4.000	18,000.00000	72,000.00				
PORTAE SIGN	LE VARIABLE MESSAG	E U						
0020	159108M	4.000	20,000.00000	80,000.00				
	CONTROL TRUCK WIT	H U						
0021	159138M	50.000	1,750.00000	87,500.00				
HMA PA	тсн	Т						
0022	159141M	1,000.000	175.00000	175,000.00				
TRAFFIC	DIRECTOR, FLAGGER	HOUR						
0023	159260M	2.000	2,250.00000	4,500.00				
CONSTR SIGN, IIJ	RUCTION IDENTIFICATION A 6' X 4'	ON U						



Page 4 of 14

Contract ID: 23146 Counties: MONMOUTH

Letting Date: November 30, 2023 District(s): C1

Call Order: 146 **Project(s):** 0035338

Contract Time: 10/20/25 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ASPHAI SYSTEM					
Alt Set / Alt Memi	per Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	SECTION: 0001 Roadway		Cat Alt Set:		Cat Alt Member:		
0024 159300M	878,540.000	0.49000	430,484.60				
TRAFFIC STRIPES,	LATEX, 4" LF						
0025 159302M	19,710.000	0.50000	9,855.00				
TRAFFIC STRIPES,	LATEX, 8" LF						
0026 159312M	64,315.000	0.50000	32,157.50				
TRAFFIC MARKING LATEX, 8"	S LINES, LF						
0027 159314M	58,580.000	0.50000	29,290.00				
TRAFFIC MARKING LATEX, 24"	S LINES, LF						
0028 159320M	14,000.000	1.00000	14,000.00				
TRAFFIC MARKING LATEX	S SYMBOLS, SF						



Page 5 of 14

Contract ID: 23146 Counties: MONMOUTH

Letting Date: November 30, 2023 District(s): C1

Call Order: 146 **Project(s):** 0035338

Contract Time: 10/20/25 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Alt Set:		Cat Alt Member:			
0029	160004M	1.000	9,600.00000	9,600.00				
FUEL PF	RICE ADJUSTMENT	DOLL						
0030	160007M	1.000	200.00000	200.00				
ASPHAL	T PRICE ADJUSTME	ENT DOLL						
0031	161003P	(1)	38,000.00000	38,000.00				
FINAL C	LEANUP	LS						
0032	201003P	(1)	60,000.00000	60,000.00				
CLEARI	NG SITE	LS						
0033	302051P	10.000	1,000.00000	10,000.00				
_	GRADED AGGREGA DURSE, VARIABLE ESS	TE CY						



Page 6 of 14

Contract ID: 23146 Counties: MONMOUTH

Letting Date: November 30, 2023 District(s): C1

Call Order: 146 **Project(s):** 0035338

Contract Time: 10/20/25 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Cat Alt Set:		: Set:	Cat Alt Member:			
0034	401017P	8,187.000	30.00000	245,610.00				
MICRO-N	MILLING	SY						
0035	401021M	250.000	250.00000	62,500.00				
HOT MIX REPAIR	ASPHALT PAVEMEN	NT SY						
0036	401024M	7,500.000	6.00000	45,000.00				
	OF CRACKS IN HOT SURFACE COURS!							
0037	401030M	87,760.000	3.75000	329,100.00				
TACK COAT GAL								
0038	401113M	110.000	250.00000	27,500.00				
HMA LO	NGITUDINAL JOINT	SY						



Page 7 of 14

Contract ID: 23146 Counties: MONMOUTH

Letting Date: November 30, 2023 District(s): C1

Call Order: 146 **Project(s):** 0035338

Contract Time: 10/20/25 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Alt Set:		Cat Alt Member:		
0039 421007M	6,415.000	7.61000	48,818.15				
MICROPAVING JOINTS	LF						
0040 421010M	5,871.000	134.00000	786,714.00				
SLURRY SEAL AGGREGAT	TE, TYPE T						
0041 421011M	174,352.000	12.94000	2,256,114.88				
SLURRY SEAL EMULSION	GAL						
0042 453006M	50.000	750.00000	37,500.00				
FULL DEPTH CONCRETE PAVEMENT REPAIR, HMA	SY						
0043 602099M	5.000	4,744.60000	23,723.00				
RESET EXISTING CASTING	9 U						



Page 8 of 14

Contract ID: 23146 Counties: MONMOUTH

Letting Date: November 30, 2023 District(s): C1

Call Order: 146 **Project(s):** 0035338

Contract Time: 10/20/25 COMPLETION DATE Min: Max:

	lo / Item ID Pescription			(1) ASPHAL SYSTEM					
Alt Se	t / Alt Member	Quantity and Ur	its	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway			Cat Al	Set:	Cat A	It Member:	
0044	602150M	2.00		6,243.25000	12,486.50				
	STRUCTED INLET, T NEW CASTING	YPE A,	J						
0045	602153M	2.00		6,868.25000	13,736.50				
	STRUCTED INLET, T NEW CASTING	YPE B,	J						
0046	602159M	2.00		7,493.25000	14,986.50				
	STRUCTED INLET, T NEW CASTING	YPE E,	J						
0047	602180M	2.00		4,993.25000	9,986.50				
	STRUCTED MANHOLEXISTING	LE, I	J						
0048	602210M	1.00)	2,500.00000	2,500.00				
BICYCLE	SAFE GRATE	Į.	J						



Page 9 of 14

Contract ID: 23146 Counties: MONMOUTH

Letting Date: November 30, 2023 District(s): C1

Call Order: 146 **Project(s):** 0035338

Contract Time: 10/20/25 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadw		Roadway		Cat Alt	: Set:	Cat A	It Member:	
0049	602213M	14.000	2,772.92000	38,820.88				
CURB P	ECE	U						
0050	610003M	292,850.000	0.65000	190,352.50				
TRAFFIC	STRIPES, 4"	LF						
0051	610007M	6,570.000	1.40000	9,198.00				
TRAFFIC	STRIPES, 8"	LF						
0052	610012M	2,250.000	55.00000	123,750.00				
RPM, MO LENS	ONO-DIRECTIONAL, \	WHITE U						
0053	610014M	21,440.000	2.25000	48,240.00				
TRAFFIC	MARKING LINES, 8"	LF						
0054	610017M	19,530.000	7.00000	136,710.00				
TRAFFIC	MARKING LINES, 24	1" LF						



Page 10 of 14

Contract ID: 23146 Counties: MONMOUTH

Letting Date: November 30, 2023 District(s): C1

Call Order: 146 **Project(s):** 0035338

Contract Time: 10/20/25 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	/ Alt Member Qu	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt	Set:	Cat Alt Member:		
0055	610018M	1,200.000	55.00000	66,000.00				
RPM, MC AMBER I	DNO-DIRECTIONAL, LENS	U						
0056	610021M	530.000	55.00000	29,150.00				
RPM, BI- LENS	DIRECTIONAL, AMBER	U						
0057	610024M	3,980.000	70.00000	278,600.00				
REMOVA	AL OF RPM	U						
0058	610033M	6,980.000	1.31000	9,143.80				
RUMBLE	STRIP	LF						
0059	610036M	299,420.000	0.80000	239,536.00				
REMOVA	AL OF TRAFFIC STRIPE	S LF						



Page 11 of 14

Contract ID: 23146 Counties: MONMOUTH

Letting Date: November 30, 2023 District(s): C1

Call Order: 146 **Project(s):** 0035338

Contract Time: 10/20/25 COMPLETION DATE Min: Max:

Contract Description: Rt. 35, Brookwood Drive to Riverdale Drive

	Will det Description. Tit. 66, Brookwood Brive to Niverdale Brive									
	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.							
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount		
SECTIO	ON: 0001	Roadway		Cat Alt	Set:	Cat A	It Member:			
0060	610039M	58,010.000	4.56000	264,525.60						
REMOV	AL OF TRAFFIC MAF	RKINGS SF								
0061	610060M	4,670.000	9.88000	46,139.60						
TRAFFIC	C MARKINGS SYMBO	OLS SF								

Section Totals: \$7,710,143.51



Page 12 of 14

Contract ID: 23146 Counties: MONMOUTH

Letting Date: November 30, 2023 District(s): C1

Call Order: 146 **Project(s):** 0035338

Contract Time: 10/20/25 COMPLETION DATE Min: Max:

Contract Description: Rt. 35, Brookwood Drive to Riverdale Drive

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Construction E		ngineering	Cat Alt Set:		Cat Alt Member:		
0007 155018M	1.000	52,000.00000	52,000.00				
FIELD OFFICE TYPE F SET	UP U						
0008 155036M	23.000	10,000.00000	230,000.00				
FIELD OFFICE TYPE F MAINTENANCE	MO						

Section Totals: \$282,000.00



Page 13 of 14

Contract ID: 23146 Counties: MONMOUTH

Letting Date: November 30, 2023 District(s): C1

Call Order: 146 **Project(s):** 0035338

Contract Time: 10/20/25 COMPLETION DATE Min: Max:

Contract Description: Rt. 35, Brookwood Drive to Riverdale Drive

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0003 (Non-Participating (Roadway Cat Alt Set: Cat Alt Member:

 0002
 152015P
 1.000
 20,000.00000
 20,000.00

 POLLUTION LIABILITY INSURANCE
 DOLL

Section Totals: \$20,000.00



Page 14 of 14

Contract ID: 23146 Counties: MONMOUTH

Letting Date: November 30, 2023 District(s): C1

Call Order: 146 **Project(s):** 0035338

Contract Time: 10/20/25 COMPLETION DATE Min: Max:

Contract Description: Rt. 35, Brookwood Drive to Riverdale Drive

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	Erosion Control		Cat Alt	Set:	Cat A	It Member:	
0010 158030M	530.000	593.83000	314,729.90				
INLET FILTER TYPE 2, 2' X 4	1' U						
0011 158033M	22.000	593.83000	13,064.26				
INLET FILTER TYPE 2, 4' X 4	1' U						
0012 158072M	2.000	2,500.00000	5,000.00				
OIL ONLY EMERGENCY SPI TYPE 1	ILL KIT, U						
Section Totals:			\$332,794.16				
Contract Totals			\$8,344,937.67				
Cost Plus Time Totals			\$8,344,937.67				

() indicates item is bid as Lump Sum



Vendor Ranking Page:

Call Order: 146 Contract ID: 23146 Counties: MONMOUTH

Letting Date: November 30, 2023 10:00 AM District(s): C1

Contract Time: 10/20/25 COMPLETION DATE

Contract Description: Rt. 35, Brookwood Drive to Riverdale Drive Project(s): 0035338

Rank	Vendor Name	Total Bid	Percent Of Low Bid
1	ASPHALT PAVING SYSTEMS, INC.	\$8,344,937.67	100.00%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.